



Mahatma Gandhi University

Priyadarsini Hills P.O. Kottayam- 686560, Kerala State,India. Tel: +91-481-2732500 E-mail: mgu@mgu.ac.in www.mgu.ac.in

Established by Kerala State Legislature by the Gandhiji University Act, 1985 (Act 12 of 1985) and amended as Mahatma Gandhi University Act, 1985 by Act II of 1988

CONSOLIDATED MARK CUM GRADE CARD



Section: CBCSS XI Student Id: 18180007438

Name of the Candidate

: MELBIN JOHNSON

Name of the College

: NEWMAN COLLEGE, THODUPUZHA

Permanent Register Number(PRN): 180021080808

Degree

: BACHELOR OF COMMERCE

Name of the Programme

: COMMERCE

MODEL I (FINANCE AND TAXATION)

Date of Birth

: 02-Feb-2000

Date of Publication of Result

: 08-Nov-2021





Permanent Register Number (PRN): 180021080808

			Marks						Mark	9)pa	(GP)	K GP	
		s (C	External Internal Total				T	Total	ardec	oint(C	Č.	=	
Course Code	Course Title	Credits (C)	Awarded(E)	Maximum	Awarded(I)	Maximum	Awarded (E+I)	Maximum	Percentage of Total Marks	Grade Awarded(G)	Grade Point(GP)	Credit Point (C x GP)	Result
SEMESTER I	STEENING TO VEHICLE THE THE TOTAL STEENING TO STATE OF THE STEENING TO STATE OF THE		A	2	4	2	Æ	2	a l	0		0	70-3
	Common Course I												
ENICCT01	English - Fine - tune Your English	4	52	80	15	20	67	100	67	B+	7	28	Pas
ML1CCT05	Common Course II Malayalam-Kathayum Kavithayum	4	61	80	15	20	76	100	76	A	8	32	Pas
CO1CRT01	Core Course Dimensions and Methodology of Business Studies	2	49	80	14	20	63	100	63	В	6	12	Pas
CO1CRT02	Financial Accounting I	4	43	80	13	20	56	100	56	В	6	24	Par
CO1CRT03	Corporate Regulations and Administration	3	44	80	15	20	. 59	100	59	В	6	18	Pas
CO1CMT01	Complementary Course Banking and Insurance	3	42	80	13	20	55	100	55	В	6	18	Pas
SEMESTER II													
	Common Course I												
EN2CCT03	English-Issues That Matter	4	48	80	16	20	64	100	64	В	6	24	Pas
ML2CCT06	Common Course II Malayalam-Aathmakatha,Lekhanam	4	49	80	15	20	64	100	64	В	6	24	Pas
CO2CRT04	Core Course Financial Accounting II	4	29	80	12	20	41	100	41	D	4	16	D.
CO2CRT05	Business Regulatory Framework	3	46	80	16	20	62	100	62	D B	6	16	Pas Pas
CO2CRT06	Business Management	3	36	80	15	20	51	100	51	c	5	15	Pa
CO2CMT02	Complementary Course Principles of Business Decisions	3	60	80	14	20	74	100	74	B+	7	21	Pas
SEMESTER III												ne ize	
EN3CCT07	Common Course I English-Gems of Imagination	3	42	80	14	20	56	100	56	В	6	18	Pa
	Core Course												100
CO3CRT07	Corporate Accounting I	4	26	80	9	20	35	100	35	D	4	16	Pa
CO3CRT08	Quantitative Techniques for Business- 1	4	51	80	11	20	62	100	62	В	6	24	Pa
CO3CRT09	Financial Markets and Operations	3	24	80	12	20	36	100	36	D	4	12	Pa
CO3CRT10	Marketing Management	3	29	80	10	20	39	100	39	D	4	12	Pa
CO3OCT01	Optional Core Goods and Services Tax			80	9	20	53	100	53	c	5	20	D
SEMESTER IV	Goods and Services Tax	7		80	9	20	33	100	33		,	20	Pa
SEMESTERIV	Common Course I												
EN4CCT08	English-Revisiting the Classics	3	57	80	13	20	70	100	70	B+	7	21	Pas
CO4CRT11	Core Course Corporate Accounting II	4	25	80	10	20	35	100	35	D	4	16	Pas
CO4CRT12	Quantitative Techniques for Business- II	4	29	80	12	20	41	100	41	D	4	16	Pas
CO4CRT13	Entrepreneurship Development and Project Management	4	30	80	12	20	42	100	42	D	4	16	Pa
	Optional Core		100	20			.25	N 200	(1022)			282	1000
CO4OCT01	Financial Services	4	27	80	13	20	40	100	40	D	4	16	Pas
SEMESTER V													
CO5CRT14	Core Course Cost Accounting - 1	4	43	80	19	20	62	100	62	В	6	24	Pas
CO5CRT15	Environment Management and Human Rights	4	28	80	18	20	46	100	46	c	5	20	Pas
CO5CRT16	Financial Management	4	37	80	19	20	56	100	56	В	6	24	Pas
CO5OCT01	Optional Core Income Tax- I	4	54	80	18	20	72	100	72	B +	7	28	Pa
3M5OPT25	Open Course Modern Banking	3	69	80	18	20	87	100	87	A+	9	27	Pas
SEMESTER VI	The profit being the profit of	Cherry	KUREN S	SISTEM			IMERSON'S	EXILE A	# B	Pátrica			
THE PERSON NAMED IN	Core Course		SQ AN										
CO6CRT17	Cost Accounting - 2	4	41	80	18	20	59	100	59	В	6	24	Pa
CO6CRT18	Advertisement and Sales Management	3	58	80	16	20	74	100	74	B+	7	21	Pa
CO6CRT19	Auditing and Assurance	4	54	80	16	20	70	100	70	B+	7	28	Pas
CO6CRT20	Management Accounting	4	27	80	17	20	44	100	44	D	4	16	Pas
	Optional Core												

Permanent Register Number (PRN) : 180021080808

CO6PRT01 Project and Viva (P) 1 65 80 19 20 84 100 84 A 8 8 Pass

SEMESTER RESULTS

Semester	Credits	SCPA	Grade	Month & Year of Passing	Result
SEMESTER I	20	6.60	B+	Dec 2018	Pass
SEMESTER II	21	5.62	В	Oct 2020	Pass
SEMESTER III	21	4.86	C	Feb 2021	Pass
SEMESTER IV	19	4.47	D	Mar 2020	Pass
SEMESTER V	19	6.47	В	Jul 2021	Pass
SEMESTER VI	20	6.25	В	Apr 2021	Pass
TOTAL	120				- 435

PROGRAMME PART RESULTS

Programme Part	Credit Points	Credits	CCPA	Grade
Common Course I: English	91	14	6.50	B+
Common Course II : Malayalam	56	8	7.00	B+
Core Course : Commerce, Optional: Finance and Taxation	472	89	5.30	C
Complementary Course : Commerce	39	6	6.50	B+
Open Course : Modern Banking	27	3	9.00	A+
TOTAL	685	120	5.71	B

Overall Programme

CUMULATIVE CREDIT POINT AVERAGE (CCPA) = 5.71 : GRADE = B Only

CONTROLLER OF EXAMINATIONS





ENTRY No.

Description of the Evaluation Process

Grade and Grade Point

The Evaluation of each Course constrises of Internal and External Components in the ratio 1:4 for all Courses. Grades and Grade Points are given on 10-Point Scale based on the Percentage of Total Marks (Internal + External) as given in Table I

KUMAR MISHRA) Credit H SDM (Shahdara) Grade are gi Nand Nagari, Delhi-110093 Table I

Credit Point (CP) of a course is Calculated using the formula CP = C x GP, Where C is the Credit; GP is the Grade Point.

Credit Point Average(CPA) of a course/Semester or Programme, is calculated using the formula

CPA or SCPA or CCPA=TCP/TC, Where T Total Credit Point; TC is the Total Credit.

In the case of an Individual Course, CPA = GP.

SG=Semester grade.

Conversion formula for conversion of SCPA and CCPA into percentage.

- 1. For SCPA into percentage, multiply the secured SCPA by
- 2. For conversion of CCPA into percentage, multiply the sec

Note: A separate minimum of 30% marks each for international (equivalent to CPA of 4 / Grade D)are required for a pass Semester/Programme, only F Grade will be awarded for t permitted period.

Table I

% of Marks	Grade	GP
Equal to 95 and above	S Outstanding	10
Equal to 85 and < 95	A+ Excellent	9
Equal to 75 and < 85	A Very Good	8
Equal to 65 and < 75	B+ Good	7
Equal to 55 and < 65	B Above Average	6
Equal to 45 and < 55	C Satisfactory	5
Equal to 35 and < 45	D Pass	4
Below 35	F Failure	0
	Ab Absent	0

Table II

SG			
S Outstanding			
A+ Excellent			
A Very Good			
B+ Good			

भारत संरकार GOVERNMENT OF INDIA अपोस्टिल / APOSTILLE

(Convention de La Haye du 5 octobre 1961)

REPUBLIC OF INDIA

This public document

MARK SHEET

has been signed by CONTROLLER OF EXAMINATIONS

acting in the capacity of

CONTROLLER OF EXAMINATIONS

rs the seal/stamp of SDM, SHAHDARA, DELHI

Certified

- NEW DELHI, INDIA # 11-Jun-2024
- SO (OI/Attestation) MINISTRY OF EXTERNAL AFFAIRS
- KLTS0003732324

Seal / Stamp

sued to MELBIN JOHNSON

6 marks ared in a The Carlo Within the

2238398

(RAJ KUMAR SINGH) अनुमाग अधिकारी (सत्यापन / ओ.आई.) Section Officer (Attestation / O.I.) सी पी बी. प्रभाग / C.P.V. Division विदेश मंत्रालय, नई दिल्ली Ministry of External Affairs, New Delhi